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1.7 Transformations
1.7.1 Exercises
page 140: 1,4, 19, 24, 48, 56

2 Linear and Quadratic Functions

2.1 Linear Functions
2.1.1 Exercises
page 163:5, 7, 15, 18, 26, 28, 32, 35, 45

2.1
Memorize

Equation 2.1. The slope m of the line containing the points P (x,,) and Q (z,,¥,) is:
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memorize

Equation 2.2. The point-slope form of the line with slope m containing the point (x,,,) is
the equation y — y, = m (x — xy).
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Memorize

Equation 2.3. The slope-intercept form of the line with slope m and y-intercept (0, b) is the
equation y = ma + b.

Derive the slope-intercept form from the point-slope form.
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Memorize

Definition 2.1. A linear function is a function of the form

f(z) =mz + b,

where m and b are real numbers with m # 0. The domain of a linear function is (—o0, c0).

Definition 2.2. A constant function is a function of the form

where b is real number. The domain of a constant function is (—o0, 00).
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Memorize

Definition 2.3. Let f be a function defined on the interval [a, b]. The average rate of change
of f over [a,b] is defined as:
Af _ f(b) - f(a)

Ar b—a

2.1

2.1.1 EXERCISES

In Exercises 1 - 10, find both the point-slope form and the slope-intercept form of the line with the
given slope which passes through the given point.

2. m= -2, P(—5,8)

Equation 2.2. The point-slope form of the line with slope m containing the point (z,,y,) is
the equation y — y, = m (x — x).

Equation 2.3. The slope-intercept form of the line with slope m and y-intercept (0, b) is the
equation y = mx + b.
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Derive the slope-intercept form directly from the

fixed point and the slope
M — — X
bvo) )= (-$ &)
Y =nsx +b

Y T -1 ~\/é

This equation is true for all points on the line.

In particular, it is true for (-5,8).

Graph equation on calculator
Use trace with x = -5 to verify that
the point (-5,8) is on the line.
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2.1

In Exercises 11 - 20, find the slope-intercept form of the line which passes through the given points.
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2.1

In Exercises 21 - 26, graph the function. Find the slope, y-intercept and z-intercept, if any exist.
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